
Graecumkurs // bmaucolin  

 Übung zu εἰμι, ἵημι Lösungen 
 
 
1. [E = εἰμι; I = ἵημι; nach Kolumnen] E 1. Pl. Konj. Pr.– E 1. Sg. Opt. Pr. Akt. – E Inf. Pr. 

ODER I Inf. Aor. Akt. – I 2. Sg. Konj. Aor. Akt. – I Inf. Aor. Akt. – I 3. Pl. Ind. Aor. Akt. – 
E Inf. Fut. – E 2. Pl. Ind. Imperf. oder Konj. Pr. – E 3. Pl. Indik. Imperf. – I 3. Pl. Konj. 
Aor. Akt. – I 3. Pl. Opt. Aor. Akt. – I Inf. Aor. Med.  

 
 
2. 1. Sg. Ind. Aor. Akt. – 1. Pl. Indik. Pr. oder Imperf. Akt. – Part. Aor. Med. Nom. Pl. Mask. – 

1. Pl. Konj. Pr. Akt. – 3. Sg. Ind. Pr. Akt. – 2. Sg. Opt. Aor. Akt. – 2. Sg. Ind. Aor. Med. – 
2. Sg. Ind. Pr. Akt. 

 
 
3. 2. Sg. Ind. Pr. Med. – 1. Pl. Opt. Pr. M/P – Inf. Aor. zum Wurzelaor. ἔστην – 2. Sg. Ind. zum 

Wurzelaor. ἔστην – Part. Nom. Pl. Mask. zum Wurzelaor. ἔστην – 1. Pl. Ind.  Perf. zu intr. 
ἵσταμαι – 2. Sg. Ind. Pr. oder Imperf. Akt. – 3. Pl. Ind. Aor. Akt. (zu ἔστησα) od. zum 
Wurzelaor. ἔστην – 3. Pl. Ind. Pr. Akt. – 1. Pl. Ind. Fut. – Part. Pr. Akt. Nom. Pl. Mask. – 3. 
Pl. Ind. Imperf. Akt.  


